A 1-L Thermos bottle is full of tea at 90°C. You pour out one cup and immediately screw the stopper back on. Make an order-of-magnitude estimate of the change in temperature of the tea remaining in the flask that results from the admission of air at room temperature. State the quantities you take as data and the values you measure or estimate for them.
SOLUTION 

[image: image1.png]Consider 800 cm® of (flavored) water at 90.0 °C ‘mixing with 200 em® of diatomic ideal gas at 20.0°C:
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where we have anticipated that the final temperature of the mixture will be close to 90.0°C.
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So the specific heat per gram is 2(3314 Jjmol X
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or (AT), ~-5.05x107°C

The change of temperature for the wateris between 10°°C and 1072°C




